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R 44,000 7,000 51,000| & £
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FHXEXRBERRE 8,917,000 8,917,000
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FEEA) FHEE(B) (A)+(B) (RSB OSEBIELZH)
RIAREENXIESESD) 31,136,214 31,136,214
FRANEEREXIESEES) 200,000 200,000
FERGTIFY S 15,440,000 15,440,000
IEEIREN 8,760,000 8,760,000
EABAE 0 5,044,854 5,044,854
ZDAHIRA 45,375 9,625 55,000| % #5Z 5T 449,000/ - & a5 4R IX F ##446,000M
IRA &H(C) 31,381,589 29,254,479 60,636,068
OX it
A& & 28,201,295 14,591,773 42,793,068
BA®KS 24,162,430 12,614,150 36,776,580| S 1 B ML LI A
BES-REAFEHS 414,500 85,500 500,000|[@ L
FEHWERS 0 0 0
EEENE 3,624,365 1,892,123 5,516,488 | & L
EH-EXE 5 4,014,847 13,828,153 17,843,000
EHEEE 497,400 102,600 600,000| \ 5%
WREXBE 16,580 3,420 20,000{@ £
MEHEE 91,190 18,810 110,000| @ £
HERE - HERRE 331,600 68,400 400,000/ £
EEEEEAE 0 0 0
FNRI S A% 66,320 13,680 80,000{[@ £
KENEE - R E 91,190 18,810 110,000|[E £
BISEKRE 99,480 20,520 120,000t
LB (LEERLRE) 24,870 5,130 30,000{[R £
XHERE 149,220 30,780 180,000 =]
FHXEXRBERRE 13,000,000 13,000,000
R 49,740 10,260 60,000 £
HWE 16,580 3,420 20,000{[@ £
e 149,220 30,780 180,000 F]
FARAR 66,320 13,680 80,000 E £
fRep#t 0 0 0
HH 33,160 6,840 40,000{[R £
F DR 2,331,977 481,023 2,813,000 £
X EH(D) 32,216,142 28,419,926 60,636,068
O IRZZE5|
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X n i EIER IR - | MR FHXIEREMN FHE & w % i
FEEA) FHEE(B) (A)+(B) (ROBIWOSERELRH)
RIAREENXIESESD) 42,406,186 42,406,186
RIAHEEIEXRIESED) 40,200 40,200
FERGTIFY S 17,082,000 17,082,000
IEEIREN 10,774,800 10,774,800
EABAE 4,722,562 4,815,277 9,537,839
ZDAHIRA 0 0 0
IRA &H(C) 47,168,948 32,672,077 79,841,025
OX it
A& i 38,828,523 13,076,686 51,905,209
BE®RS5 33,774,652 11,087,241 44,861,893 E%g} ‘;ﬁ%ﬁfiﬁgﬂf"”“' 51
BHS-RELFHE 0 0 0| L
FEHWERS 0 0 0
EEENE 5,053,871 1,989,445 7,043,316 £
EH-EXE i 8,340,425 19,595,391 27,935,816
EHEEE 108,889 31,111 140,000 A #1325
WREXBE 4,667 1,333 6,000| & £
HEHHEE 360,111 102,889 463,000|[= £
HERE - HERRE 513,333 146,667 660,000| [ L
EEEEEAE 0 0 0
FNRI S A% 46,667 13,333 60,000 £
KENEE - R E 186,667 53,333 240,000| & £
RIEERE 373,333 106,667 480,000 & £
LB (LEERLRE) 46,667 13,333 60,000 £
XHERE 415,256 118,644 533,900 [E -
FHXEXRBERRE 17,212,416 17,212,416
R 54,444 15,556 70,000 E]
HWE 771,778 222,222 1,000,000 @ £
e 0 0 0
MABAR 393,789 112,511 506,300| R £
fRep#t 144,667 41,333 186,000
HH 17,267 4,933 22,200|[E £
F DR 4,896,890 1,399,110 6,296,000{ = £
X EH(D) 47,168,948 32,672,077 79,841,025
O IRZZE5|
#=5| & (C)—(D) 0 0 O|(R) EANHREA £9,537,839M
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SHSEE (202 14E) WHOEXEL Y — NEFHIESEN RXTEREE
g miEYiEr2—
O A (BEfT : )
X n i EIER IR - | MR FHXIEREMN FHE & w % i
FEEA) FHEE(B) (A)+(B) (ROBIWOSERELRH)
RIAREENXIESESD) 42,406,186 42,406,186
FRANEEREXIESEES) 50,000 50,000
FERGTIFY S 14,000,000 14,000,000
IEEIREN 9,000,000 9,000,000
EANBAE 0 0 0
ZDHUTA 354,000 46,000 400,000 E?’g *ég‘ etk b = FEAH10000F
IRA &H(C) 42,810,186 23,046,000 65,856,186
OX H
A& &t 32,961,958 6,389,596 39,351,554
BE#HS 28,277,790 5,506,171 33,783,961 CIE] Ri8ETE2 MBI L2, LRIV B
BES-REAFEHS 442,500 57,500 500,000|[@ L
FEHWERS 0 0 0
EEENE 4,241,668 825,925 5,067,593 & -
EH-EXE B 10,055,370 16,306,630 26,362,000
EHEEE 885,000 115,000 1,000,000{ A\ §325
WREXBE 17,700 2,300 20,000{@ £
MEHEE 88,500 11,500 100,000| @ £
HERE - HERRE 371,700 48,300 420,000|[E £
EEEEEAE 0 0 0
NS A& 132,750 17,250 150,000 /=] £
KENEE - R E 17,700 2,300 20,000 £
BISEKRE 442,500 57,500 500,000 /& -
LB (LEERLRE) 26,550 3,450 30,000{[R £
XHERE 132,750 17,250 150,000 =]
FHXEXRBERRE 15,000,000 15,000,000
R 44,250 5,750 50,000 £
HWE 97,350 12,650 110,000/ £
B 0 0 ojmt
FARAR 28,320 3,680 32,000|[E £
fRep#t 0 0 o|R £
HH 48,675 6,325 55,000| =] £
F DR 7,721,625 1,003,375 8,725,000{[= £
X EH(D) 43,017,328 22,696,226 65,713,554
O IRZZE5|
#=5| & (C)—(D) A 207,142 349,774 142,632 (M) ;& AR A £0M
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SHMIEE (202 15E) MEAEXIEEV 2 — (NMEFHIESZEM RIXFTEREE
o A o)
X n i EIER IR - | MR FHXIEREMN FHE & w = i
FEEA) FHEE(B) (A)+(B) (RSB OSEBIELZH)
RIAREENXIESESD) 36,771,200 36,771,200
FRANEEREXIESEES) 20,100 20,100
FERGTIFY S 15,000,000 15,000,000
IEEIREN 9,600,000 9,600,000
EABAE 0 180,700 180,700
ZDAHIRA 0 30,000 30,000[EE #H1L&
IRA Et(C) 36,791,300 24,810,700 61,602,000
OX it
A& & 31,730,000 17,272,000 49,002,000
BEHS 27,200,000 14,800,000 42,000,000 E%g} E‘;{%ﬁgz g2, TR, BH
BES-REAFEHS 180,000 72,000 252,000| /= £
FEHWERS 0 0 0
EEENE 4,350,000 2,400,000 6,750,000 /= -
EH-EXE i 1,926,000 10,674,000 12,600,000
ERHEESE 90,000 60,000 150,000 4R A 425>
WREXBE 72,000 48,000 120,000| @ £
MEHEE 72,000 48,000 120,000| @ £
HERE - HERRE 120,000 80,000 200,000/ £
EEEEBAE 0 0 0
FNRI S A% 18,000 12,000 30,000{[R £
KENEE - R E 180,000 120,000 300,000 & £
BISEKRE 90,000 60,000 150,000 =]
LB (LEERLRE) 180,000 120,000 300,000 E £
XHERE 180,000 120,000 300,000 E £
FHXEXRBERRE 9,400,000 9,400,000 = -
R 60,000 30,000 90,000{[@ £
HWE 12,000 8,000 20,000{[@ £
e 480,000 320,000 800,000 & -
FARAR 6,000 4,000 10,000 @ £
fRep#t 216,000 144,000 360,000 & £
HH 36,000 24,000 60,000 £
F DR 114,000 76,000 190,000| R £
X EH(D) 33,656,000 27,946,000 61,602,000
O IRZZE5|
#3| &(C)—(D) 3,135,300 A 3,135,300 0|(M) & A#2 A £:180,700
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SHMIEE (202 15E) MEAEXIEEV 2 — (NMEFHIESZEM RIXFTEREE
O A (BEfT : )
X n i EIER IR - | MR FHXIEREMN FHE & wm &
FEEA) FHEE(B) (A)+(B) (ROBIWOSERELRH)
RIAREENXIESESD) 27,677,293 27,677,293
FRANEEREXIESEES) 40,000 40,000
FERGTIFY S 2,215,000 2,215,000
IEEIREN 5,761,000 5,761,000
EABAE 742,707 0 742,707
ZDAHIRA 0 0 0
IRA &H(C) 28,460,000 7,976,000 36,436,000
OX H
A& it 26,354,000 4,245,000 30,599,000
BEKS 21,931,000 3,634,000 25,565,000 E;a?]]gg%%o*si[@nﬁﬁgg R
BHS - BREF S 1,002,000 0 1,002,000 Eg;ﬁl];,f%%g?ﬁﬁﬁ"?”‘
FEYBEHRS 0 0 0
EEERE 3,421,000 611,000 4,032,000 Eg%’,fg%@mo*si[@mﬁgg A 51
EH-EXE B 2,126,000 3,711,000 5,837,000
ERIELR 100,000 22,000 122000f ZIETRIEL. gl LETTTHL T
MR EE 5,000 0 5.000){ 5 R s mros% xesmEOOAS
HEHHESR 203,000 51,000 254,0000( S A S di o700 KeiammD05AS (FBYrTeR
HEMRE-REBRE 113,000 101,000 214,000| A\ #1325
EEEEEAE 0 0 0
RN 0 0 0
KERBE - -MRHE 101,000 63,000 164,000 A #3253
BIEERE 205,000 186,000 391,000| A %% 5>
LHRE(LEERE) 0 0 0
(BERE 0 0 0
FHXEXRBEERRE 2,305,000 2,305,000
Rk 90,000 10,000 100,000 | S s wm gy Bk SR
HWE 443,000 410,000 853,000| A #i% 5>
BN 571,000 524,000 1,095,000| R £
FARAR 0 0 0
RFH 0 0 0
HoH 14,000 13,000 27,000{R £
Z DR E 281,000 26,000 307,000 A #3252 %
X EH(D) 28,480,000 7,956,000 36,436,000
O IRZZE5|
#3| &(C)—(D) A 20,000 20,000 0|(P) ix AR A £742,707H

X (AIZFTSUFITRINZLED,

13




